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wE—IREE ), Y

BRFIERRRE:

1. EESRARERRENAES S,

2. KRS WALAERIIRFAE.
RS HRUBANEERNERT S,
=5 1:

N ()"
taiH: true

x5 2:

B "O04"
taiH: true

=l 3:

N "(]"
taitH: false

=f5 4:

N " (D]
taiH: false

a5l 5:

g {1}
taiH: true

BE

class Solution {
public boolean isValid(String s) {

Stack<Character> stack = new Stack<>();

for (char ¢ : s.toCharArray()) {
if(c =="('{
stack push() );
}else if(c == "['){
stack. push(] );
telse if(c == "{'){
stack. push( )
//Object pop() :

U RIFARER, FIMTE AR

BEE

PRRERRINERRIN SR, FHE AL ERERYEIREIZIIR.

//stack.pop()!=c : ATHA"}]"HEVRBETFIT AR AINES, FHiEEstack

//EAERER!!

}else if(stack.isEmpty() || stack.pop()!=c){

return false;

}
}

Rz 5k
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return stack.isEmpty();

}
}

Java Stack 3

,EVectorfJ—1+2K,

M REN TEOMUIERE, ARIE— =K.

Her—&75i%.

s
1

2
t&higiRE.
3
HAVBEIREIZXTSR.
4

#B.

5

BNE, LL1 AEE.

ESL T —MIERIEEH A,
IR T BfEH VectorE XIATE S iE, BENX

Hikigid
boolean empty() MiHEEERAZ,
Object peek() EEFHLINERIINISR, BFRM
Object pop( ) IBERMEHLIRERAIRISR, FHAFIL
Object push(Object element) BIIEN

int search(Object element) IR[EIXI ST
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